
9. feladatsor – Lineáris leképezések – Megoldások

9.1. Feladat. a) nem lineáris
b) lineáris, Kerϕ = [(0, 0, 1)] , Imϕ = R2

c) lineáris, Kerϕ = [(2, 1)] , Imϕ = [(1,−2,−4)]
d) nem lineáris

9.2. Feladat. a) nem
b) igen, Kerϕ = {(0, 0)}, Imϕ = R2

c) igen, Kerϕ = [(1, 0)] , Imϕ = [(0, 1)]
d) igen, Kerϕ = {(0, 0)}, Imϕ = R2

e) igen, Kerϕ = {(0, 0)}, Imϕ = R2

9.3. Feladat. ϕ+ ψ, ϕψ :

a) null, 180◦-os forgatás
b) identitás, null
c) (x, y) 7→ (x+ y, x+ y), ψ
d) identitás, identitás

9.4. Feladat. a) PE→F =

(
0 −1
−1 −2

)
, PF→E =

(
2 −1
−1 0

)
b) PE→F =

1
2 0 0
0 1

2
1
2

0 1
2 −1

2

, PF→E =

2 0 0
0 1 1
0 1 −1


9.5. Feladat. a) AEϕ =

(
1 2
3 −1

)
, vE = (−8, 5)

AFϕ =

(
−5 −9
2 5

)
, vF = (−5,−2)

b) AEϕ =

 2 1 3
−1 1 −2
0 0 −1

 , vE = (2, 4, 2)

AFϕ =

 2 4 −2
−1

2 −1 2
−1

2 0 1

 , vF = (1, 3, 1)

1


